I adten veil

National Testing Agency

Test Date : 24 reb 2023 Test Slot : siot 2

\Subject : 19-Bengali

Paper I: 201-General Paper

Sl. No.1
QBID:16201001

The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%
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The difference between the production of wheat by the Scientific Method and the Conventional
Methoed in Indonesia is lakh tonnes.
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
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EINIE] 20% 78% 22%
EIRGA 13% 60% 40%
SRR 10% 73% 27%
Bl 9% 66% 34%
S [Rf] 8% 20% 80%

The approximate average production of wheat (in lakh tonnes) by the Scientific Method for all the

seven countries is

1.3.06
2.3.16
3.4.12
4.4.24
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1[Option ID=26105] Question Description : dwbv_pg_gp16_eng_2_q2
2[Option ID=26106]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
et 81 39 3= &1 P A IS 50 TG ¢ §1 59 AIGdT & Pl & MUR W Ut F
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GIE| 22% 70% 30%
EINIE] 20% 78% 22%
EIRGA 13% 60% 40%
SRR 10% 73% 27%
Bl 9% 66% 34%
S [Rf] 8% 20% 80%

The ratio of production of wheat by Conventional Method in Pakistan to that by the Scientific
Method in Japan is -

1.9:40
2.99:260
3.51:260
4.49:40
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1[Option ID=26109] Question Description : dwbv_pg_gp16_eng_2_q3
2[Option ID=26110]
3[Option ID=26111]
4[Option ID=26112]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
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iG] 22% 70% 30%
EICH 20% 78% 22%
Eincal 13% 60% 40%
EGIEIEID) 10% 73% 27%
BliGasict 9% 66% 34%
EIRICE] 8% 20% 80%
Production of wheat in Srilanka by the Conventional Method is approximately ____ times the

production of wheat in India by the Scientific Method.

1. 1.5
2.09
3. 2.1
4.1.2
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1[Option ID=26113] Question Description : dwbv_pg_gp16_eng_2_q4
2[Option ID=26114]
3[Option ID=26115]
4[Option ID=26116]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
et 81 39 3= &1 P A IS 50 TG ¢ §1 59 AIGdT & Pl & MUR W Ut F
I g

g IIG BT ¢¥ER faazu
.- ﬂﬁ'a’wmﬁag(%) (50 ARE eI | Eﬁ?ﬁﬁm{:)
UEd g&fd
HRd 18% 32% 68%
iG] 22% 70% 30%
EICH 20% 78% 22%
Eincal 13% 60% 40%
EGIEIEID) 10% 73% 27%
BliGasict 9% 66% 34%
EIRICE] 8% 20% 80%
Production of wheat in India by the Scientific Method is approximately __ % more than the

production of wheat in Pakistan by the Conventional Method.

1.88.24
2.86.26
3.82.14
4.78.24
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1[Option ID=26117] Question Description : dwbv_pg_gp16_eng_2_q5
2[Option ID=26118]
3[Option ID=26119]
4[Option ID=26120]

Sl. No.6
QBID:16201006

Which of the following softwares can be used to develop quizzes?
A, Wakelet

B. Learning Pod

C. Pixton

D. Hot Potatoes

E. Socrative

Choose the correct answer from the options given below:

1. A and C only
2.B,C, DandEonly
3.B, D and Eonly
4. A, DandE only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=26121] Question Description : dwbv_pg_gp16_eng_2_q6
2[Option ID=26122]
3[Option ID=26123]
4[Option ID=26124]

Sl. No.7
QBID:16201007

What are the learning styles according to Fleming's VARK model of learning?

1. Verbal, Auxiliary, Kinesthetic, Rehearsal

2. Visual, Auditory, Reading/writing, Kinesthetic
3. Verbal, Augmentative, Retrospective, Kinetic
4. Visual, Augmentary, Reading, Kinetic

(1)
(2)
(3)
(4)

TRITHT o a0 SR, (VARK) TS 5=l & 38R DI Sfim Afeat 82

1. TG, TS, TasI4®, gararg
2. TG, YaAUD (HSedl), UaH/aEH, dy®s

3. A, sMasdd® (AimHeea), gd-uumd, 1 (@re-iem)
4. g, snaslf (3fimHed), s, Tfaw
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1[Option ID=26125] Question Description : dwbv_pg_gp16_eng_2_q7
2[Option ID=26126]




3[Option ID=26127]
4[Option ID=26128]

Sl. No.8
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Rahul was trying to solve some mathematics problems related to trigonometry. He tried many
times but failed. His teacher helped him, which led him to follow right approach and he
succeeded to solve these problems. This is an example of-

1. Zone of the proximal development
2. Equilibrium

3. Assimilation

4. Schemas

(1)
(2)
(3)
(4)
egd Bratufifa 9 Y&t 1frd &1 oo T9wisi & 1 &1 W R 361 411 39 36 aR Ta™
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87
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1[Option ID=26129] Question Description : dwbv_pg_gp16_eng_2_q8
2[Option ID=26130]
3[Option ID=26131]
4[Option ID=26132]
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Which of the following curriculum development models come under Non technical, Non-scientific
models?

A. Open Classroom Model

B. Goodlad's Model

C. Roger's Model of Interpersonal Relations

D. Weinstein and Fantini Model

E. Taba's Model

Choose the correct answer from the options given below:

1.B and E only
2.A CandD only
3.C, DandEonly
4.B and D only

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26133] Question Description : dwbv_pg_gp16_eng_2_q9
2[Option ID=26134]
3[Option ID=26135]
4[Option ID=26136]
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SWAYAM is a platform that facilitates hosting of all the courses, taught in classrooms from ----- to
be accessed by anyone, anywhere at any time.

1. class 9™ ill the post- graduation

2. class 8™ till the post- graduation
5th

3. class 5™ till doctorate degree

4. class 7™ till the post- doctoral degree

(1)
(2)
(3)
(4)
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1[Option ID=26137] Question Description : dwbv_pg_gp16_eng_2_q10
2[Option ID=26138]
3[Option ID=26139]
4[Option ID=26140]
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Which of the following scales of measurement contains an absolute zero?

1. Nominal
2. Ordinal
3. Interval
4. Ratio

(1)
(2)
(3)
(4)
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(2) 2

3) 3

(4) 4

1[Option ID=26141] Question Description : dwbv_pg_gp16_eng_2_q1l1l
2[Option ID=26142]

3[Option ID=26143]
4[Option ID=26144]

Sl. No.12
QBID:16201012

Robustness is concerned with

1. External validity

2. Internal validity

3. Measurement validity
4. Construct validity

(1)
(2)
(3)
(4)

TR R o g udfid e -
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1[Option ID=26145] Question Description : dwbv_pg_gp16_eng_2_q12
2[Option ID=26146]
3[Option ID=26147]
4[Option ID=26148]

Sl. No.13

QBID:16201013
A sampling technigue in which initially sampled respondents contact and recruit others in their
social network for participation in the research is called

1. Convenience sampling
2. Snowball sampling

3. Quota sampling

4. Systematic sampling

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26149] Question Description : dwbv_pg_gp16_eng_2_q13
2[Option ID=26150]
3[Option ID=26151]
4[Option ID=26152]

Sl. No.14
QBID:16201014

Arrange the following components of a research paper written in APA style, in correct order
A, Tables

B. Abstract

C. References

D. Figures

Choose the correct answer from the opticns given below:

1.B,CAD
2.B.C DA
3.BADC
4.B. A CD

(1)
(2)
(3)
(4)

A W N =




TUiT (apa) Rl © fafad =ity w3 & Fgfafed ues! o 981 %9 o cuafyd $ifo -
A, FRoff
B. R
C. e
D. fe=
- fau e fowenl # 9 9 W A :
1.B,C,A D
2.B,C,D,A
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(1)
(2)
3)
(4)
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1[Option ID=26153] Question Description : dwbv_pg_gp16_eng_2_q14
2[Option ID=26154]
3[Option ID=26155]
4[Option ID=26156]

Sl. No.15
QBID:16201015

Given below are two statements:
Statement I: Debriefing of participants takes place at the beginning of a study.

Statement I Deception is the practice of giving false information to research participants about
some aspect of the study.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is carrect but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is correct.

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26157] Question Description : dwbv_pg_gp16_eng_2_q1l5
2[Option ID=26158]
3[Option ID=26159]
4[Option ID=26160]

Sl. No.16
QBID:16201016

The linear model of communication can be described as

1. Liberal

2. Authoritarian
3. Confessional
4. Participatory

(1)
(2)
(3)
(4)

TUNU & WG Aisd &1 v, FefaRad 3 9 feg ©u d o o 9@ar e2

1. 3GRAG!
2. TaErat

3. APl
4. g YTl

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26161] Question Description : dwbv_pg_gp16_eng_2_q16
2[Option ID=26162]
3[Option ID=26163]
4[Option ID=26164]
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Studying the practical use of signs and their impact on everyday life is called

1. Linguistics
2. Syntactics
3. Semantics

4. Pragmatics

(1)
(2)
(3)
(4)

A W N =
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1. Y9I-fa=g

2. qIiaaTy fagH

3. Fear fagm
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(1)
(2)
(3)
(4)
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1[Option ID=26165] Question Description : dwbv_pg_gp16_eng_2_ql17
2[Option ID=26166]
3[Option ID=26167]
4[Option ID=26168]

Sl. No.18
QBID:16201018

What factors are responsible for ineffective listening in a classroom?
A. Contextualisation of message

B. Attention-triggers

C. Physical or mental fatigue

D. Lack of incentive

E. Insufficient preparation

Choose the correct answer from the options given below:

1. A, B, Conly
2.C,D, Eonly
3.B,C Donly
4. A, D, Eonly

(1)
(2)
3)
(4)

A W N R
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26169] Question Description : dwbv_pg_gp16_eng_2_qi18
2[Option ID=26170]

3[Option ID=26171]
4[Option ID=26172]

Sl. No.19
QBID:16201019

The mechanical model of mass communication is characterised by
A. Multiple ways flow

B. One-way flow

C. From one-to-many

D. Can be anonymous

E. Active audience

Choose the correct answer from the options given below:

1.A, B, Conly
2.B.C Donly
3.C,D Eonly
4. A, D, Eonly

(1) 1
(2) 2
(3) 3
(4) 4
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(1)
(2)
(3)
(4)

A W N =

1[Option ID=26173] Question Description : dwbv_pg_gp16_eng_2_q19
2[Option ID=26174]
3[Option ID=26175]
4[Option ID=26176]

Sl. No.20
QBID:16201020

Given below are two statements:

Statement I: In the earlier days of mass communication, content creators played an important role
in the society.

Statement II: They represented and defined reality by authoring narratives to explain to the
audience.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
3) 3
4) 4
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4. YT | Y &, Al HY | T &l

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26177] Question Description : dwbv_pg_gp16_eng_2_q20
2[Option ID=26178]
3[Option ID=26179]
4[Option ID=26180]

Sl. No.21
QBID:16201021

A family comprises of 3 persons A, B and C. The age of A is four times that of B. In four years time,
A will be 40 years old. The age of C was half the age of A four years ago. Find the present age of B
and C (in years), respectively.

1.9, 20
2.9,16
3.16, 32
4.12,18

(1)
(2)
(3)
(4)

% URaGR H A, B AR C A AT 81 A BT TG B B AT BT IR T 6| IR I8 UHTG A B 311 40
ad grft | C B Mg IR a8 Ud A Bt 21 & 3¢l o | HA: 8 2R ¢ T 21g @ul #) 74 B

1.9, 20
2.9,16
3.16, 32
4.12,18

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26181] Question Description : dwbv_pg_gp16_eng_2_q21
2[Option ID=26182]




3[Option ID=26183]
4[Option ID=26184]

Sl. No.22
QBID:16201022

While pointing towards a picture, a man says "This girl is the wife of the grand-son of my
mother”. How is the man related to the girl in the picture?

1. Brother-in-law
2. Father

3. Father-in-law
4, Brother

(1)
(2)
(3)
(4)

Uth IR @1 3R Ydbd B §U U oHick] dgdl o 1ob, I8 ol U1 Al & U &I Udl g 1" dwiik @l
TS| &1 39 Afdd U 791 T6Y 87

1. T/ Sl
2. faan
3. R
4. 4%

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26185] Question Description : dwbv_pg_gp16_eng_2_q22
2[Option ID=26186]
3[Option ID=26187]
4[Option ID=26188]

Sl. No.23
QBID:16201023

A man starts from a point X and walks 20 meters to reach a point Y in the north-east direction. He
then turns right and walks 20 meters again to reach a point Z. How far is the point Z from point
X?

1.20V2 m
2.10¢2 m
3.20m

4. 2V20m

(1)
(2)
3)
(4)

A W N B




U5 e X fag U Ia-1 3RY Sl & AR I) Y4 [ H v g R UgaH & e 20 Hiex 9o &1
98 34D 916 aliel IR SdI g AR Z g M UgeH s Rt R 20 Hicx qaar g1 z eg i x g o
&l foai &2

1.20v2 Tl
2. 10v2 HieX
3. 20 Tl

4. 2420 HieX

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26189] Question Description : dwbv_pg_gp16_eng_2_q23
2[Option ID=26190]
3[Option ID=26191]
4[Option ID=26192]

Sl. No.24
QBID:16201024

A man invests some amount of money for some time period. This amount of money becomes
34500 at the rate of 7% simple interest. However, if invested at 5% per annum simple interest, the
same amount becomes 3500. Find out the amount of money and the time period.

1. 31000, 50 years.
2.32000, 50 years.
3. 1000, 30 years.
4. 32000, 30 years.

(1)
(2)
(3)
(4)

U e fhdl 4RI &1 FHd 5@ 999 & [T Hdl 61 T8 UFRIRT 7% WIURU &1 @1 aX §

34500 Bl WAl &1 quIfil, TfE 59 aiftfes W10 &are &1 &3 | Fdwr fasar 9w at a8t &=-IfR 23500 &1
Sl 81 ¢RI Ud SHamary 9id S -

A W N =

1.% 1000, 50 @Y
2.3 2000, 50 @4
3.71000, 30 @4
4.7 2000, 30 @4

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26193] Question Description : dwbv_pg_gp16_eng_2_q24
2[Option ID=26194]
3[Option ID=26195]
4[Option ID=26196]

Sl. No.25
QBID:16201025




What number should replace question mark (?) in the series given below:
12,12, 24,72, 288, 7, 8640

1. 360
2.1152
3. 1415
4. 1440

(1)
(2)
(3)
(4)

A W N =

rd €1 718 e o o1 Ul U Uy drad (9 (7) B UidRiitd &l 7
12,12, 24, 72, 288, 7, 8640

1. 360
2.1152
3. 1415
4. 1440

(1)
(2)
3)
(4)

A W N &

1[Option ID=26197] Question Description : dwbv_pg_gp16_eng_2_q25
2[Option ID=26198]
3[Option ID=26199]
4[Option ID=26200]

Sl. No.26
QBID:16201026

If 'No metals are gases' is given as false, then which of the following statements can be
immediately inferred to be true?

A. All gases are metals.

B. All metals are gases.

C. Some metals are not gases.

D. Some metals are gases.

Choose the correct answer from the options given below:

1.Cand D only
2. A and B only
3. D only

4. Aand D anly

1) 1
) 2




(3) 3
(4) 4

aig @1 uIg 19 el &' @I 7Tad & wU 1 591 7141 & d) FEfaRed ¥ U 69 &3 & 981 aH @1
dialieid &4 U SHH [l o Thdl 87
A T I UIge B
B. g+l ¢ T B
C. B% 41U T 81 g
D. @ QY T g
T feu U fosenl 5 9 981 I 3 :
1.%dd C 3R D
2. Bad A R B

3. ®dd D
4. HadA AR D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26201] Question Description : dwbv_pg_gp16_eng_2_q26
2[Option ID=26202]
3[Option ID=26203]
4[Option ID=26204]

Sl. No.27
QBID:16201027

Which of the following statements are so related that they can not both be false, although they
may both be true?

A. All metals are gases.

B. Some metals are gases.

C. Some metals are not gases.

D. No metals are gases.

Choose the eorrect answer from the options given below:

1. A and D only
2.B and C only
3. A and B only
4. Cand D only

(1)
(2)
(3)
(4)

A W N =




fufafed 3 9 &H T $YF 39 UeR Yefid g [ 3 gl 7ad 11 81 9dd, J9iu d aiHi 98] 81 9dd
87

A 9t U 9 8

B. PO UIqU 9 g |

C. B8 41U I A8l g

D. Bl ot 41 I 8T 3|

T feu U f9seul 5 § 981 I 3
1.%ad A 3R D
2. BaaB AR C

3. ®ad A 3R B
4.%dd C 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26205] Question Description : dwbv_pg_gp16_eng_2_q27
2[Option ID=26206]

3[Option ID=26207]
4[Option ID=26208]

Sl. No.28
QBID:16201028

"The last time | stretched my arms first and my legs second, | won my race, So that stretching
sequence must have increased my speed.” Which informal fallacy is committed in the above

statement?

1. Post hoc

2. False alternative

3. Hasty generalisation
4. Slippery slope

1) 1
(2) 2
3) 3
(4) 4

“Ugell aR H 30T Yot 3R gadl IR U=t 2 of e faar ok #4 sro-t € offd &1 3efag,
34 fEaE o & ®9 = o8 fd Sg1 & e

SUdad BY H B9 SFTGINSG db-aIy fhdl T 82

1.0 81
2. 7Tdd fddeg
3. HfgaR GRS

e [t

4. ﬁhﬂ-lﬂﬁgdﬂ G ([cfUlx &U)

(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26209] Question Description : dwbv_pg_gp16_eng_2_q28
2[Option ID=26210]

3[Option ID=26211]
4[Option ID=26212]

Sl. No.29
QBID:16201029

Which of the following statements is logically equivalent to the statement -* No metals are
gases'’?

1. All non-metals are gases.

2. No gases are metals.

3. No metals are non-gases.

4. All non-gases are non- metals.

1)
(2)
(3)
(4)

a5 9 oH oY dids 0 438 $Y S 990 & - Dls H Ui T 981 87

1. @l IR uqu i €

2. 313 oft g urg e R

3. B3 Wt urg RT3
4. @ R IR-uqu B

A W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26213] Question Description : dwbv_pg_gp16_eng_2_q29
2[Option ID=26214]
3[Option ID=26215]
4[Option ID=26216]

Sl. No.30
QBID:16201030

According to Nyaya (classical Indian school of logic) Which fallacy is committed in the following
argument- 'Sound is eternal because it is produced’?

1. Anupasmhari
2. Sadharana

3. SvarOpasiddha
4. Viruddha

(1)
(2)
(3)
(4)

A W N R




M {1 HRAY dhRRd [GaR-986[E) & IR FEiRad g9ftd H &=yl ad-a/y 6l a1 87
" MY g Hifs Ig IUF Bl il 5"

1. ORI

2. FIYRT
3. WEUS
4. fa%g

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26217] Question Description : dwbv_pg_gp16_eng_2_q30
2[Option ID=26218]
3[Option ID=26219]
4[Option ID=26220]

Sl. No.31
QBID:16201031

Which one of the following acronyms matches incorrectly with its full form?

1. SMS- Short Message Storage

2. URL - Uniform Resource Locator
3. BLOG- weB LOG

4. VPN- Virtual Private Netwark

(1)
(2)
(3)
(4)

A W N =

fFrafeRad o 9 &1 91 uRavi e 396 I0l &0 9 ¥el gHiad 781 87

1. U9 TH UY - TME H89 €S
2.9 3R Ud - gHHH G drdex
3. &A1 - 49 AT (weB LOG)

4. d1 i U9 - 9e(d UIgde Hedm

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26221] Question Description : dwbv_pg_gp16_eng_2_q31
2[Option ID=26222]
3[Option ID=26223]
4[Option ID=26224]

Sl. No.32
QBID:16201032




Identify the correct order of the following list of stages A-E when an email is sent and received.

A. Sender's ISP mail server decides how to route the message, and the message travels over the
Internet and arrives at recipient's ISP mail server.

B. Message retrieved and sent to recipient’s computer to be opened and read.
C. The sender composes his message and activates the send command.
D. Message held in recipient's electronic mail box and recipient logs on to read his messages.

E. Message is sent to sender’s ISP mail server and this server examines address associated with
message.

Choose the correct answer from the options given below:

1.CEABD
2.A CBDE
3.0,B,.CEA
4. CEADE

(1)
(2)
(3)
(4)

fFafeRad 9ol #1 A-£ B 50 Hor 3R UId B3 B sfaeuisil & ¥gl B i fgd Hifeg

A UNS &l 318 U Ul Oef YaR [H0ig &dl & fos UE=1 1 AR &1 8RT, SR Y68 $e¥-e W ol &
YT Ul & 33 0 Ot §d 98 W Ugadl &

5. Te¥ 31 g0 gl & SR 38 Uradhal & $uel R BiaH 3R T & o O S @
C. UN® 30T Tl foradl & iR U $HIS &I 9ihy aidl g

A W N =

D. UTidhd| o Seidgli-icb Hel aled o TSR I Bicll & SR Wddhdl 30 Yo &1 Ug- @ (o1t qll
HEA B &

£ US® & TS U9 Ul He JaX R Hax 4ol 91l 3 HR U8 94X 9o¥ & 91Y g Uod 31 Wi
GG

Frd feu T faweal § 9 w8l ST
1.C,EABD
2.8 CBDE

3.0,B,.CEA
4. CEADE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26225] Question Description : dwbv_pg_gp16_eng_2_q32
2[Option ID=26226]
3[Option ID=26227]
4[Option ID=26228]




Sl. No.33
QBID:16201033

Given below are two statements:
Statement I: (4A2F)15 = (18997)1g
Statement II: (6940)1p = (1B1C)45
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
3) 3
4) 4

EICEACRIC AR

DU - 1: (4A2F)15 = (18991)19

U - Il (6940)10 = (1B1C)16

Suded Bl & e | Fekifed el 3 § 98 IR 9
1. YT | 3R 1 ST T B
2. B | 3R 11 G 3 B

3. BYT | G g, dfted YT 11 A B |
4. BYF | 3EA &, dfthd HYT 1 T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26229] Question Description : dwbv_pg_gp16_eng_2_q33
2[Option ID=26230]
3[Option ID=26231]
4[Option ID=26232]

Sl. No.34
QBID:16201034




Which of the following memory/ storage devices are considered as primary storage?
A. Removable hard disk drive

B. RAM

C. ROM

D. DVD/CD

Choose the correct answer from the options given below:

1. A and D only
2.Band D only
3. Aand C only
4.B and C only

(1)
(2)
3)
(4)

frafated 3 3 om 9@ Hia / YSRu ofdaat mufie Ysru A S g
A, RIFTGRUIE BT8 (5% S15a

B. ¥H (RAM)

A W N R

.| (ROM)

D.Sidl 8t/ E 8l

- fau 1Y fasenl & 4 98l I g :
1. ®adA SR D
2.%9d B 3R D

3. WA A AR C
4. HaaB AR C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26233] Question Description : dwbv_pg_gp16_eng_2_q34
2[Option ID=26234]
3[Option ID=26235]
4[Option ID=26236]

Sl. No.35
QBID:16201035




Match List | with List 11

List | (Desciption)

List Il (ICT Term)

across the internet

A. Set of rules that must be obeyed when transforming files on data

. Internet Service Provider

changes each time the device connects

B. ID given to a device when it connects to the Internet; the ID

Il. Hyper Text Transfer
Protocal (HTTP)

monthly subscription

C. Company that provides the user with access to the Internet for a

ll. Media Access Control
(MAC) address

this ID rarely changes.

D. ID which uniquely identifies a device connected to the Internet;

IV, Internet Protacol (IP)
Address

TA-NMB-ILC-1,D-1
ZA-ILE-IV,C-LD-1I
A-ILB-L,C-IV,D-1l
4 A-LB-IV,C-IL,D-1N

(1)
(2)
(3)
(4)

Tl -1 B it -1 AT B -

A W N =

Choose the correct answer from the options given below:

CEIRNEER)

-1 (3115 € <1 e

A. 0T &1 98 Y=Y O] Set-e R Biedl
1 STeT WHIGIU Hid GHY 3Ha¥g 91a- &l

ELUEY

. §ed-e Hiaq
EIGIEER

B. 323 ¥ dad 994 &4l gfed @1 61 T3 315

II. BIEURCHE THHT

1[Option ID=26237]
2[Option ID=26238]

ﬁ,ﬁﬂgﬁﬁ?mﬁ@?ﬁ%ﬁ&ﬂﬁﬁ el (@ & @ )
C. 98 HU- il Wil I Ai® d¢ W 323 11 Hifsar URid dheid
ST U Hedl & @A T T3H
D. 8 313 oI il 3e3-c U 9ol g5 fobdl gfad I . o
afep w1 & Ffed o & a8 od € &l ";-{%ﬂ?m““
HUR URaRid &Il & ( e
< f&u 7 fawent € Tt I g

1.A-W,B-I,C-1, D-1I

2ZA-ILB-IV,C-1, D-1

IA-NLB-1LC-I, D-1

4. A-1,LB-IV,C-1l, D-1I
(1)1
(2) 2
3) 3
(4) 4

Question Description : dwbv_pg_gp16_eng_2_q35




3[Option ID=26239]
4[Option ID=26240]

Sl. No.36
QBID:16201036

Hydrogen produced using solar energy is called as

1. Grey hydrogen

2. Green hydrogen

3. White hydrogen

4. Torquoise hydrogen

1)1
(2) 2
3) 3
(4) 4

TR Fell & SN §RT S0d &1 41 glE g &i &l el 9l o7

1. YT BTG SIoH
2. eRa g gleA
2. 4d B gIo
4. THIZS (BRIS) TES o

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=26241] Question Description : dwbv_pg_gp16_eng_2_q36
2[Option ID=26242]

3[Option ID=26243]
4[Option ID=26244]

Sl. No.37
QBID:16201037

Match List | with List Il

List-1 (Summit/ Protocol)|List-1l (Theme/ Issue)

A. Paris Agreement |. Ozone layer

B. Kyoto Protocol Il. Human environment

C. Rio Summit [1l. Clean Development Mechanism
D. Montreal Protocol IV. Climate change issues

Choose the correct answer from the options given below:

LA-LB-ILC-IIl.D-W
Z8a-1LB =G = IV Br= |
3JA-W,B-ILC-1I,D-~|
4 A-IV,B-III,C-1I,D-1

1) 1
(2) 2
(3) 3




(4) 4

Tl -1 B gl -1 T ghfed S -

Tt -1 RReR TeieH / vieidla gt -1 fawa g5

A, Ufeg TmEian | TS 1L

B. Hel Hieidid II. A4 Ga gy

c. it Brer aweH 1. =3 9o fear-flaf
D. HifeTd Wiedid V. Sicarg UiadH & g
< fau 7 fawent € T8t IR I

TA-LB-ILC-1, D-IV
ZA-ILE-NL,C-1V, D-1
LA-IVEB-ILC-1I, D-1
4 A-IV,B-UIL,C-1l, D-1

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26245] Question Description : dwbv_pg_gp16_eng_2_q37

2[Option ID=26246]
3[Option ID=26247]
4[Option ID=26248]

Sl. No.38
QBID:16201038

Match List I with List 11

List-1 (Effect type due to sea level rise) |List-1l (Example)

A. Biogeophysical effect

|. Rehabilitation

B. Climatic effect

ll. Flooding due to sea water

C. Social effect

lll. Salt water intrusion

D. Non-climatic effect

IV. Storm changes

Choose the correct answer from the options given below:

TA-MB-I,C~-I, D~
2A-lLB-NC-1.D-1
JJA-NMB-IIlLC-1,D-1
4 A-IV,B-II,C-1,D-1
(1)
(2)
(3)
(4)

A W N =




Tdl-1 B! G-Il I GHRT DI -

- (FE AT IR P UME S UPR) [JEil-1l (T80

AN YIS THE |. garg

B. Seiarg UM II. G el & BRU 8l
C. grIfStd UHTd Il 0T o Sdde

D. IR-Sieag UHId V. SaTd uRad-

=< Teu ¢ famenl H ¥ 9el IR gL :

TA-ILB-ILC-1IV, D-1
2ZA-ILBE-IV,C-1, D-1
A-IVEB-NILC-1, D-1
4A-IV,B-UIL,C-1, D-1

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26249] Question Description : dwbv_pg_gp16_eng_2_q38
2[Option ID=26250]
3[Option ID=26251]
4[Option ID=26252]

Sl. No.39
QBID:16201039

Which of the following are removed through secondary waste water treatment process?

1. Polythene, tetra pack, etc.

2. Large suspended solids

3. Colloidal and dissolved organic matter
4. Settleable organic matters

(1)
(2)
(3)
(4)

fofafad # ¢ ford fgdias sy wia e ufshar gR1 e 9iidT 82

1. Ofciefe, Semia anfe

2. 9ed fcfad a9

3. Bidza AR faafta o9 uerd
4. TR g g g ugrd

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26253] Question Description : dwbv_pg_gp16_eng_2_q39
2[Option ID=26254]
3[Option ID=26255]
4[Option ID=26256]




Sl. No.40
QBID:16201040

Given below are two statements:

Statement I: Article 484: It is the duty of citizens of India to protect and improve the natural
environment.

Statement II: Article 51: Directive Principles of state policy are to ensure protection and
improvement of the natural Environment.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

DY - | : IS¢ 48U : YR o AFIRS| B I8 thaod & (o d Wil Uaiaul &f Ifard ud dafda
H

BY - | TG 51 : ol P il Fe=e Rigia wigpfae uaiazor & e ud a1 o ghiEd
RG]
U BYAl & AIcld H HRfeiad [admedl H 9 wel 3w 9 -

1. YA | AR 11 SH T T

2. YA | 3R 11 GHI 3§

3. YA | 9 &, dichd &Y 1| S B
4. YT | Y &, Al HY | T &l

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26257] Question Description : dwbv_pg_gp16_eng_2_q40
2[Option ID=26258]
3[Option ID=26259]
4[Option ID=26260]

Sl. No.41
QBID:16201041




According to NEP 2020, how much percentage of learners by 2025 through the school and higher
education system shall have exposure to vocational education?

1. 50%
2. 40%
3. 35%
4. 60%

(1) 1
(2) 2
3) 3
4) 4

73 R Aifa (@3 2020 T FTIR 2025 TF G gfo=E Afrm@ated & ey 4R I=Ew
e vl & Ares ¥ soraaie R &1 SwEE T g

1. 50 Wia=d
2. 40 Uiq=d
3. 35 Ufa=d
4. 60 U=

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26261] Question Description : dwbv_pg_gp16_eng_2_q41
2[Option ID=26262]
3[Option ID=26263]
4[Option ID=26264]

Sl. No.42
QBID:16201042

What is full form of "STARS" ?

1. Scheme for Transformational and Advanced Research in Fundamental Sciences

2. Schedule for Transdisciplinary and Advocacy Research in Framework of Society.

3. Standard for Transformational and Advanced Rights in Framework of Society.

4. Standard for Transdisciplinary and Academic Research in Fundamental Sciences.

(1)
(2)
(3)
(4)

T L HRUA. (STARS) &1 X1 10 &1 27

2. farega v eiafsfiei=<i U vsaidd! Rud 37 haad 3 gramad
3. %58 BR CUBIHTH S USds U3cd 34 hHad b e
4. %8S BR CASHwRl Us Uwetd N9d 31 balt<od dedd

A W N =

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=26265] Question Description : dwbv_pg_gp16_eng_2_q42
2[Option ID=26266]
3[Option ID=26267]
4[Option ID=26268]

Sl. No.43
QBID:16201043

Given below are two statements:

Statement I: Distance education has replaced the formal education in India

Statement II: Distance education reduces the cost of education

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

(1) 1
2) 2
3) 3
(4) 4

EIERA AR

Y - |- HRA H I 08 7 iveie e & ot a= e g
HY - 1| gXY FRied1 18 $1 AT @1 HH Bl 8

U B & el  FraRifee el @ oh sw g

1. YT AR I G IF B

2. Y| AR 11 GF A B

3. ®YF | T &, Tfod @Y 1| ST Bl
4. BYF | HOA &, T dUF (1 A B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26269] Question Description : dwbv_pg_gp16_eng_2_q43
2[Option ID=26270]
3[Option ID=26271]
4[Option ID=26272]

Sl. No.44
QBID:16201044




What is the full form of 'NITI'?

1. National Integration for Teaching Indians

2. Non-Government Initiation for Training Institute
3. National Institution for Transforming India

4. National Identification for Technical Integration

(1)
(2)
(3)
(4)

“Hifd &1 guf &g w1 g2

1. SRFT SERH B Sl sfead

2. 7 TTE-He 3ARIGRH BR ¢ e

3. ¥Hd SIS BR SHmIET 3fsar

4, 9T He e pdHEH B caidd =

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26273] Question Description : dwbv_pg_gp16_eng_2_q44
2[Option ID=26274]
3[Option ID=26275]
4[Option ID=26276]

Sl. No.45
QBID:16201045

During the ancient period in India which of the following places were included among the places
of learning?

A, Temples

B. Mathas

C. Basadis

D. Viharas
Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only
3.A,B.Cand D
4. A, Cand D only

(1)
(2)
(3)
(4)

A W N =




HRA H W @10 & Gk HEiiad 5 9 ®F 8 =4 HEH asl | 20 97
A HfeR
B. 73
C. gHgl
D. faER
T feu 7Y fodenl 5 9 951 I g
1. ®ad A, B3R D
2.%dd A R D

2.A, B C3RD
4. BGAA, C 3R D

(1) 1

(2) 2

(3) 3

4) 4
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.
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Given below are two statements:

Statement I: All the Special Acts of Incorporation by which universities were established in India
were exactly the same.

Statement II: The first university in India to be granted the power to appeint Professor and
Lecturers was Allahabad University.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.
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Given below are two statements:
Statement I: Allahabad University and Punjab University were established at the same time
Statement II: Bombay University and Madras University were established at the same time

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.
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Identify the first three universities established in India

A. Allahabad

B. Punjab

C. Calcutta

D. Bombay

E. Madras

Choose the correct answer from the options given below:

1. A, Band Conly
2.B, Cand D only
3.C, DandEonly
4.B, D and E only

(1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.
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Given below are two statements, one is labelled as Assertion (&) and the other is labelled as
Reason (R).

Assertion (A): When Calcutta University was established, it was also granted the power to appoint
Professors and Lecturers.

Reason (R): Education Despatch of 1854 suggested the possible institution that could appoint
Professors.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R} is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of [A).
3. (A) is correct but (R) is not correct.

4, (&) is not correct but (R) is correct.

(1) 1
) 2
3) 3
(4) 4
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.
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Given below are two statements:
Statement I: University of London was an examining university only.

Statement II: All suggestions of Education Despatch of 1854 were accepted when University of
Madras was established.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4
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